


Pos no. Reference no English name Chinese name QTY

1 CYHT06B-450-1 Auxiliary handle button 副手把按钮 1

2 CYHT06B-450-2 Linkage rod 连动杆 1

3 CYHT06B-450-3 Main button spring 主按钮弹簧 1

4 CYHT06B-450-4 Switch shift  lever 开关拨杆 1

5 CYHT06B-450-5 Auxiliary handle button extension spring 副手把按钮拉簧 1

6 CYHT06B-450-6 Main button 主手把按钮 1

7 CYHT06B-450-7 Left house 左机壳 1

8 CYHT06B-450-8 Press board 压线板 1

9 CYHT06B-450-9 Tapping screw ST4*14 十一字槽自攻螺钉ST4x14 17

10 CYHT06B-450-10 Right house 右机壳 1

11 CYHT06B-450-11 Positioning pin 开关定位销 2

12 CYHT06B-450-12 Capacitor 电容 1

13 CYHT06B-450-13 Power cord 电源线 1

14 CYHT06B-450-14 Cable sheath 护线套 1

15 CYHT06B-450-15 Terminal block 接线柱 1

16 CYHT06B-450-16 Switch (black) 开关（黑） 1

17 CYHT06B-450-17 Switch (red) 开关（红） 1

18 CYHT06B-450-18 Inductance 柱形电感 2

19 CYHT06B-450-19 Safe cover 防护罩 1

20 CYHT06B-450-20 Brush holder 刷架 1

21 CYHT06B-450-21 Tapping screw ST3x8 十字槽盘头自攻螺钉ST3x8 2

22 CYHT06B-450-22 Carbon brush 碳刷 2

23 CYHT06B-450-23 Motor cover 电机罩 1

24 CYHT06B-450-24 Screw M4x16 十字盘头螺钉M4x16 4

25 CYHT06B-450-25 Stator 定子 1

26 CYHT06B-450-26 Tapping screw ST4x40 自攻螺钉ST4x40 2

27 CYHT06B-450-27 Bearing 607 深沟球轴承607 1

28 CYHT06B-450-28 Rotor 转子 1

29 CYHT06B-450-29 Bearing 608 轴承608 1

30 CYHT06B-450-30 Retaining ring 挡风圈 1

31 CYHT06B-450-31 Center support 中心支架 1

Spare parts list for REH5045



32 CYHT06B-450-32 Tapping screw ST5x18 自攻螺钉ST5x18 2

33 CYHT06B-450-33 Spring gasket Φ5 弹簧垫圈Φ5 4

34 CYHT06B-450-34 Plane gasket Φ5 平垫圈Φ5 2

35 CYHT06B-450-35 Self lock nut M5 六角锁紧螺母M5 7

36 CYHT06B-450-36 Steel 槽钢 1

37 CYHT06B-450-37 Lining ring 衬环 8

38 CYHT06B-450-38 Blade 刀片 2

39 CYHT06B-450-39 Blade gasket1.5 刀片垫圈1.5 8

40 CYHT06B-450-40 Screw M5x14 十字盘头螺钉M5x14 6

41 CYHT06B-450-41 Spring gasket Φ5 弹簧垫圈Φ5 2

42 CYHT06B-450-42 Hex screws M5x28 六角螺钉M5x28 2

43 CYHT06B-450-43 Left tooth nut M6 六角法兰面螺母M6 1

44 CYHT06B-450-44 Gaskets0.5 从动轮薄垫片0.5 3

45 CYHT06B-450-45 Hex screws M5x8 外六角螺钉M5x8 4

46 CYHT06B-450-46 Needle bearing 0808 滚针轴承0808 2

47 CYHT06B-450-47 Big gear 大齿轮 1

48 CYHT06B-450-48 Eccentric block cover 偏心块盖板 2

49 CYHT06B-450-49 Steel Pad 槽钢垫块 1

50 CYHT06B-450-50 Steel block 槽钢防尘块 1

51 CYHT06B-450-51 Blade cover 刀鞘 1




